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A drunken man falls onto the railway tracks.

(a) A train is approaching.

(b) He saves the fallen man.

(c) A policeman awards him a prize.

(d) Many people around the man praise him.
(e) A brave man jumps down onto the tracks.
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Step1. (a) praise (b) jumps (c) awards (d) approaching (e) saves (f) falls
Step2. 2-1 (d) — (b) = (e) — (@) = (¢)
Step2. 2-2 (a) — (e) = (b) — (d) — (c)
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Late one night, a drunken man stood swaying at the train station.

(A) Many people around the man praised him. And later, a policeman awarded him a prize.

(B) At that moment a brave man jumped down onto the tracks. He managed to save the fallen
man.

(C) Suddenly, he lost his footing and tumbled onto the railway tracks below. The sound of a
noisy train filled the air as it approached him.
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(E7]) <angry <excited ¢nervous -°relaxed °sad * scared
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m Ct2 E&0| LIEH= M2 =2 4 U= 4TS Step 12| 27(0|1M St MESAIC
(a) : 1 am alone at home at night.

(b) : I talk in front of many people.

(c) : I play a game with my friend.

(d) : I walk in the park listening to music.

(e) : My friend doesn’t listen to me.
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(f) : My dog is very sick.

m] S S 1 % *% L= BHOIE 25 20t MSAIC

G : What club do you want to join?

B : I'm thinking about joining the singing club.

G : Wow. A singing club! | know you're very good at singing.

B : Well, but I'm worried about the audition. How about you?

G : Actually, I've just finished the interview for the debate club.
B : Really? How did it go?

G : I was very nervous before the interview, but it went okay.
B : Good for you! How do you feel now?

G : Now | feel a little relaxed. | hope | can join the club.

B : I'm sure you will get in.

22
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Step1. (a) relaxed (b) excited (c) angry (d) scared (e) nervous (f) sad
Step2. (a) scared (b) nervous (c) excited (d) relaxed (e) angry (f) sad
Step3. * worried * nervous * relaxed

W OIS 312 S0, G40 4HOR T1 HXst 22 1249,

G: What club do you want to join?
B: I'm thinking about joining the singing club.
G: Wow. A singing club! | know you're very good at singing.
B: Well, but I'm worried about the audition. How about you?
G: Actually, I've just finished the interview for the debate club.
B: Really? How did it go?
G: | was very nervous before the interview, but it went okay.
Yot 2 B: Good for you! How do you feel now?
G: Now | feel a little relaxed. | hope | can join the club.
B: I'm sure you will get in.
@ sad
® excited
® relaxed
@ worried
® nervous
xct ®
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Step1.
(a) | checked myself in the mirror.
(b) Nobody said anything about the zit.
(c) | saw a huge zit on my nose.
(d) Most people are only interested in their own things.
(e) | felt like everyone was staring at it.
(f) I need not worry too much about what other people think.
Step2. 2-1 (e) = (¢c) = (b) = (d) — ()
Step2. 2-2 =2 (a), (e)
ZH (c), (b)
22 (d), ()
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In the morning of my first day of high school, | checked myself in the mirror. | saw
a huge zit on my nose. | was afraid that everyone would tease me. | felt like everyone
remembered me as "Zit Girl." But the next year, | talked to my best friend about it, and
she didn't even remember the zit. | realized that most people are only interested in

their own things and they don’t notice other people’s problems. It taught me | need

was staring at it, but nobody said anything about the zit.

not worry too much about what other people think.
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(A) (B)

Doris and her family were moving to
another town. Their new house would be
too large. Doris was unhappy because she
couldn’t take her cat, Fluff. The day they
moved, Doris gave Fluff to a cousin. Doris
liked her new place, but she forgot her cat.
One day, Doris opened the front door.

Doris and her family moving to another
town. Their new house would be too small.
Doris was happy because she couldn’t
take her cat, Fluff. The day they moved,
Doris gave Fluff to a cousin. Doris liked her
new place, but she missed her cat. One
day, Doris opened the front door. There

There was Fluff! The cat had ran 100 miles
to find Doris.

was Fluffl The cat ran 100 miles to find
Doris.

1-2. 21 &4 (A), (B)2 LHES HIWGHHM M2 THE HOIE X1, 1 90| HHSAIL:

[o]]

1-3. Bt eH M2 THE

SHZAILE

T 71| T S0IM 22 S50 = HO ottE 1241, eSO F0f CHali 2

20| LB B3t LI Y|
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@ Doris and her family moved to another town close to his house.

@ Doris was not happy because she didn’t like the new house.

® Fluff couldn’t go with Doris to her new house.

@ Doris could not meet her cat after she moved to a new house.

® Fluff ran 100 miles to find Doris.
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Step1. 1-2 + were moving : moving * large : small * happy : unhappy
« forgot : missed * had run : ran

GilA| 2t .
Step1. 1-3 * small * unhappy ° gave * missed ¢ opened
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Do | stay closer to you when we walk in dark places? | can tell how you feel and comfort
you when you're sad. Because of my strong sense of smell, | know when you're sick.
| can tell when you'll come back home every day. Even if you come home at a different
time, | can hear your car coming down the street; I'm always listening for it. You pick

oL 23 up different smells from everything you touch or walk by. If you've just visited the
supermarket, | can smell the fish, the food you tried, and maybe even the people who
stood near you at checkout.
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Do | stay closer to you than normal when we walk through dark areas? | can tell how
you feel and comfort you when you're feeling down. Thanks to my powerful sense of
smell, | know when you're sick. | can recognize the difference in the chemicals your
body releases when you're sick. | know when you'll be back at the house each day.
But even if you come home at an unusual time, | can hear the sound of your car
coming down the street; I'm always listening for it. You pick up various chemicals
from everything you walk by or touch. If you've just visited the supermarket, | can
smell the fish counters, the food you sampled, and maybe even the people who
stood near you at checkout.
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Throwing plastic bags away can hurt our planet in different ways. One problem is that
animals often think plastic bags are food. They can poison and even kill the animals.
Another problem is that plastic bags easily float away because they are light. They can
damage rivers, oceans, and farms, etc. Last, plastic bags take a very long time to break
down, between 400 and 1,000 years, But, cotton bags can break down in two months,
and paper bags in only two to six weeks.

damage rivers,
oceans, and farms

take a very long time
to break down

poison and even
kill the animals

(A) aspectsof (B)

(A) (B) (A) (B)
@ useful =+ animal farming @ harmful -+ plastic bags
@ difficult -+ making plastic bags @ various =+ saving our planet
® positive - animal protection
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e 1. What can you see in this picture?
2. Where are they?
3. What are they doing?
mEgE T2 EX: EBSI &4 HASF HEAISS 96 22101 HQ(H0)) 47| 4%
as

1. The place of this picture is a

2. Twogirls __________ asandcastle.
3.Aboy_________towardthe sea with a tube.
4. There are two chairs _____ the parasol.

5. There are two seagulls __ ___

2. They are in the beach.

A woman is taking a rest. &

1. The place of this picture is a beach.

OflA|

o
re

5. There are two seagulls in the sky.

1. beach, tube, sandcastle, parasol, seagulls &

3. Two girls are making/building a sandcastle. A boy is running toward the sea with a tube.

2. Two girls are making/building a sandcastle.
3. A boy is running toward the sea with a tube.
4. There are two chairs under the parasol.
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1. The place of this picture is a beach.

2. Two girls are making/building a sandcastle.
3. A boy is running toward the sea with a tube.
4. There are two chairs under the parasol.

5. There are two seagulls in the sky.

Off
Al

1. The place of this pictureisa ____

2.Aman__ the guitar.

3. Three children ___ in line to get a balloon.
4. There is a guitar case __

09 FHo

5. There is a bike ____ to the fence.

O3 £4: EBSi &4 HFZE BEXEE QI8 22121 +=Y(Ho) 47| 4Y

OflA] Bt

1. The place of this picture is a park.

2. A man is playing the guitar.

3. Three children are waiting/standing in line to get a balloon.
4. There is a guitar case on the bench.

5. There is a bike next to the fence.
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1. What does this graph show?
2. Which country was ranked the highest?
- 3. Which country followed the highest-ranking
China theUS. Japan 5
CO, emissions in major countries country:
(E+2: billion tons)
uE-stE O3 EX: EBSi |4 8FaF ENX|EE 28t 22101 =(Fof) 47|12
Sk=
=20
S sl SAICE

1. The graph is about

2. emitted the most carbon dioxide.
3. Japan emitted carbon dioxide.

4. The gap between the country with the least CO2
emissions and the country with the most is
billion tons.

China theU.S. Japan . .
CO, emissions in major countries | 9- YWe can make a conclusion that China should try

(E49: billion tons) to CO:2 emissions.

1. (This graph is about) COz emissions in major countries.
2. China (was ranked highest.)
3. the U.S. (followed the highest-ranking country.)

GilA] Efet

1. CO2 emissions in major countries
2. China

3. the least

4.9

5. decrease
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COs. In conclusion,

, which emitted 5 billion

it is urgent for the Chinese government to take

tons of COs. Japan emitted

followed by
action to

Japan

the US,
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CO, emissions in major countries

» CO2 emissions in major countries
* decrease CO2 emissions

* the least

* three
* the U.S.
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* Dream : chef A : What do you want to be in the future?
B : | want to be a chef.
* Reason : bring comfort to people | A : Why would you like to be a chef?
through my cooking B : Because I'd like to bring comfort to people
through my cooking.
1.
* Dream : journalist A: What do you want to be in the future?
B:lwanttobea______
* Reason : report news to change | A: Why would you like to be a journalist?
the world B: Because I'd like to
2.
ma-El * Dream : cosmetic chemist A: What do you want to be in the future?
us B:
* Reason : make 100% natural A:Why would you liketobea____~ ?
cosmetics B:
CHS GIAIZ 2T510] thate) HIZHS 2HA510] LaH EAICL
COIAL
: i ?
« Plan : attend a cooking class A : \{Vhat are you going to do for your dream?
B : I'm going to attend a cooking class.
1.
: i ?
* Plan : study journalism at college A . What e_lre you going to do for your dream
B : I'm going to
2.
: i ?
« Plan : major in chemistry at college é . What are you going to do for your dream?
1. journalist, report news to change the world
2. | want to be a cosmetic chemist, cosmetic chemist, Because I'd like to make 100% natural cosmetics
GilA| St
1. study journalism at college
2. I'm going to major in chemistry at college
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A: What do you want to be in the future?

B:

A: What are you going to do for your dream?

A Why would you like to be a social worker?
B:

. It's because
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* study social work at college

* a social worker
* help others in need

For my dream,
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ZE0l
Rl

songwriting at college
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* | want to be a musician, I'd like to give people comfort through my song, I'm going to study
X

* Because I'd like to help others in need

* | want to be a social worker
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O | failed the final exam.
O | left my smartphone on the bus.
[J | don’t have close friends in my class.
[0 | can’t stop playing computer games.
O

[ET% ot 0% 2X(problems)= s1Z2517| I5H HIAIE 3 QL= 2| A (opinions)S HA5L0] Chste|
HIZLS HAISH SAICE

[y

EH|(problems) 9|ZA(opinions)
I'm overweight. —- regular exercise can help you
mESET m—
; | prefer playing with my phone to o
SH= : ) . * | drinking more water can help you
= meeting my friends.
I like soft drinks and sweet snacks | | < liining a soort club can helo vou
too much. ] g P Py
A: You look worried. What's wrong?
Of|A| B: I'm overweight.
A: | think doing regular exercise can help you.
A: You look worried. What's wrong?
231 | B:
A: | think
A: You look worried. What's wrong?
282 | B:
A: | think
* | gained too much weight these days, | am often late for school &
GilA| 2t

* | prefer playing with my phone to meeting my friends — joining a sport club can help you
* | like soft drinks and sweet snacks too much — drinking more water can help you
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Have you ever lost a hammer or a knife? On Earth, you can simply buy a new one from
a nearby store. What if this happened in space? When astronauts on the International
Space Station lose a tool, they have to wait several months until another ship brings
a new one. Sending new supplies to space takes time and costs a lot. However, with
a 3D printer, astronauts can create new tools.

1. If astronauts lose a tool in space, what would happen to them?
= They would have to

2. If astronauts have a 3D printer in space, what could they do?
= They could

02 22 EME THE isfe] Wzt (A), (B), (C)S 248 BAICL

Have you ever lost a hammer or a knife? On Earth, you can simply buy a new one from
a nearby store. What if this happened in space? When astronauts on the International
Space Station lose a tool, they have to wait several months until another ship brings
a new one. Sending new supplies to space takes time and costs a lot. However, with
a 3D printer, astronauts can create new tools.

|

. Have you ever lost a hammer or a knife?

: Yes, but | can just buy a new one from a store nearby.

. But what if this happened in space?

. In space? What would they do?

: When astronauts on the International Space Station lose a tool, they have to wait
several months until (A)

: That must be really inconvenient and (B)

. Exactly. But with a © , astronauts can create new tools themselves.

: Wow, that sounds much easier and faster!

> W > W >

w > W

OflA] Efet

1. wait several months until another ship brings a new one

2. create new tools
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they have to wait several months / However / lose a tool /
they can create new tools themselves / for a new one to arrive
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Have you ever lost a hammer or a knife? On Earth, you can simply buy a new one from
a nearby store. What if this happened in space? When astronauts on the International
a new one. Sending new supplies to space takes time and costs a lot. However, with

If astronauts / with a 3D printer / which is costly and time-consuming /

Space Station lose a tool, they have to wait several months until another ship brings
a 3D printer, astronauts can create new tools.

costly and time—consuming. However, with a 3D printer, they can create new tools themselves.

i QA | HY

X

« If astronauts lose a tool, they have to wait several months for a new one to arrive, which is

(A) another ship brings a new one

(B) expensive
(C) 3D printer
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1. Getting a pet is like having a new
2. Children can build responsibility
3. Pets

as well. You can play with your pets.

(271

while taking care of their pets / family or friend / provide entertainment

o 22 Bl TH SAIC,

ot{ Z=0j T

* Getting a pet is like have a new a family or friend.

oA
= have — having

” 1. Children can build responsibility while take care of their pets.

Ho

2. Pets provide entertainment as well. You can play to your pets.

OflA] Bt

1. family or friend

2. while taking care of their pets
3. provide entertainment

[ Step 2 |

1. take — taking
2.to — with

o
N

Ao
09

(m] Of2f 29| BIZHE (272 =0T B 2Eol0] 2-gal SAICE

Petsprovidelove, ___________ andevenentertainment. ______ apetis like having
a new a family or friend. Children can build responsibility while taking care ____ their
pets. For these reasons, a pet can greatly enrich our lives and bring

to our homes.

(271

responsible / responsibility / Get / Getting / of / to /
have / having / happiness / unhappiness /
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M : Come to Union Station, where this 90-minute _(A) tour will start. This tour will
ends at Toronto City Hall, which is about a kilometer away from the _(B) . You'll
walk past tallest skyscrapers in Canada. Your guide, who has lived in this city for
30 years, will explain Toronto’s © during the tour
(E71)
@®meal @walking ®visit @ station ®stop ® history
- A (B): ©):
w=-shE .
SHE m Walking Tour0f] 2t QHHES i1, ZF F20] QHHEC| LiZ3} UXISIH T, S2IH Foil MISIAIL.
=20
Discover Downtown Toronto
Come to Union Station, where this 90-minute walking tour will start. This tour will end

at Toronto City Hall, which is about a kilometer away from the station. You'll walk past
tallest skyscrapers in Canada. Your guide, who has lived in this city for 30 years, will
r:i

explain Toronto’s history during the tour

* City Hall: AJH ** past: X|LIA] *** skyscrape

1) £0le 902
3) E0{= Union Station0OllA] Z2 =L} (T/F)
= | EMO M

= =0
2) Union Station0lM EE2& AIENAIQ] H2|= 2f TkmOIL. (T/F)

 ZIEICE (T/F)
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Discover Downtown Toronto

Come to Union Station, where this 90-minute walking tour will start. This tour will end
at Toronto City Hall, which is about a kilometer away from the station. You'll walk past
tallest skyscrapers in Canada. Your guide, who has lived in this city for 30 years, will
explain Toronto’s history during the tour.

* City Hall: Al ** past: X|LEA| *** skyscraper: 1E712
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(A) transport . « O EFoI
(B) material . c QHNE
(C) sort . « ® 2ot
(D) product . * @ H|Z=olCt
(E) manufacture -+ c ®MNE
59 tha2 recycling®) Wilg MH5H= CHHSO|CE 2t Q2O Hof 2R0| 512 L3t YRGS
(HIDOIN S2t 26N 2.
SESS M8 S0 &Lt
Items are placed in recycling bins.
|
THEE 7h5Et 282 $HE|0f 2UHELIC
Recyclable items are _ (A) and transported.
=
=52 US0{Z M=o m2t 2FELICEH
Items are sorted by the material they are made from.
|
UL TR ItSst SEE2 MAE D MA2|EL Ct.
Some recyclable items are _ (B) and preprocessed.
|
TEE20| 7tsst MEE MER HMELE MZELCt
Recyclable material is manufactured into renewed products.
|
T HBSE ME HIECR =810 CHA| AJRFELICE
The cycle restarts with products made from recycled _ (C) .
==
M cleaned @ collected @ content
— (A): (B): ©):
ne B)® ©O O B
oy
AN BO OO
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Stage 1

Items are placed
in recycling bins.

Stage 3 | Stage 4
Items are sorted by Some recyclable
the material they items are cleaned
are made from. and preprocessed.
Stage 5 Stage 6
The cycle restarts with
(B) products made from

recycled content.

=
™ Recyclable material is manufactured into renewed products.
@ Recyclable items are collected and transported.
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o SEXOIZ0| AN W
e s == ',_@‘;q © CHUBH 2| B ZIEtst 20|t 22 BH=5i0] £71Lt ol m, st
o= T E| A A HEE 2E0t0 LO|LE 22 27|Lt AL QIE9| MEE
[10532-01-08] Lo ol THorst 4 QIC}
== =TT A EM @ LO|LE 22| O[SHE Tt S HMAS OAIS HT510] YR HE
HHot Meks Mt =t~ O
st Ut
[EZ90 chS Wheel of Emotion BEHYTS S2f siZshs 01319 812 £2 (27)0lA T2AIL.
‘ (A) confident . NOE=t el
s | —
5 f (B) lonely . * @ARIZ UE
| 0 3 C) jealous . NOPIE!
/o,, &% ‘q@' 43”‘ ©j ® _| ]
ey {2 (D) pleased . - @ ALt
Wy e E) ashamed . - ®2ARR
S © ®2
Y 5 °{-.a 0 (F) nervous . + ®dof
. N
.é” ‘3{3 (G) disappointed * . (D) 20r5t
(H) excited . * ® Aot
N CHS CHSHS &t S0, et S00M HXP7E =7k 2 LIEIE HOIS M5k, 1 S8 M2 3
LT e
= M : Mom, | have my final exam tomorrow. I'm so afraid | will fail.
W : You've studied a lot, haven't you?
M : Yes, | have, but | still feel so nervous.
W : It's okay to feel nervous. It means you care about doing well.
M : But what if | forget everything during the exam?
W : Just take deep breaths and stay calm. You know the material. Believe in yourself.
M < I'll try. I'm still a little afraid, though.
W : That's normal. Just do your best, and remember, | am proud of you no matter what.
LHEEFEEAD o|oj
O (A) depressed —
[ (B) confident —
O (C) afraid —
[ (D) excited —
O (E) nervous —
AN-@ B-® O-© O-0 B-® -0 G- H-®
e
(C) Fefst=  (BE) =rst
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Julia got a present from her uncle. It was a blue sweater. She was so _(A) that she
wrote her name on the tag to mark it as hers and wore it whenever possible.

When Julia was in ninth grade, some boys made fun of her sweater. She felt so

(B) that she gave it away to a donation center.

After many years, Julia moved to Rwanda to help establish a bank for poor women.
One day, when she was jogging, she found a boy wearing her old sweater. She got the boy
to turn around, and she was _ (C) to find her name written on the tag inside the collar.

* mark: EAISICH * whenever: ~& MOCH * make fun of~: (~&) =2|Ct * give away: FCf
* donation: 7|2 * establish: A&SICE * turn around: &Lt * collar: 22!

[EX: NESE, £8%01]

mypgsr | 1. 81ZHA), (B), (O S0Z Julia®l AHCZ 71 MESH 031 S (E7D0IA S2t 25 2.
(E71)
M surprised @ pleased @ embarrassed
2. JuliaZt ZH29 M™E LA E J0IE ¢, O|= It Z4-ol ALtz 71 MESH WS NEAQ.
Cause of Emotion Emotion
Julia received a blue sweater from her uncle. - (A)
Some boys in the school made fun of Julia’s sweater. — (B)
Julia found her name on the tag of old sweater in Rwanda. —- ©)
CE 1)
M embarrassed @ surprised ® pleased
3 1.0 B® OO 2.0® B® OO
1. JuliaQ| M E Motz BYQE HE0|7 HHE AQIE{0| 0|ES X101, Xt YUCH= 00K |E Sl
(A)0lli= @ ‘pleased(” &) 7+ HHsIt, 95HA0| EIUS M FH AFS0| Julia AYHE S2l= ey

Mo
o
gg
m

j
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0|% 1 AYHE 7|28k= 0[0F7|2] MIHZ 0|20 JuliaZt =71 MHE2 3 ‘embarrassed(E@EAZI2)
AT}, HQI0| T|0f 2ATHO| 7HA] 1T T OIA] XHAQ| 0] 0] MO AQHE IR A HS WdsH=E
&7t JuliaQ AHE @ ‘surprised(=24) 7+ 7FRF MESIC}

2. (M) ZHol RI0| ‘HEUHNM AYEIE ME L2 A'0|22 0|2 25 ZH2 @ ‘pleased(7|&£) 7t
MAES, (B)Q M9 QI0| ‘HH AHS0| IS AYEHE =2 20|22 0|2 QIS Y2 @

‘embarrassed(ZSA2) 7t HESICE (C)2f ZE 2| 10| EATIOIA AE0| AHA2] 0|0 U=

o=— -

=
2 LU7ASH 20|22 0|2 Q15 ™S @ ‘surprised(S2H) 74 MASGICE
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Advantages(&H Disadvantages(=#&)
[ easy communication (3|2 2AIAE) O addiction (&5
[ online education (2221 11%) [ sleep problems (=2 Z0H)
O (A) O ©
O (B) O (D)
(E71)

@ waste of time (A7 ZH])

@ helpful in an emergency (Y1240 =2)

® timeless entertainment (A|ZH M2 Sl= @)

@ accidents during driving or waking (2% A| = 23 A| AD)

ADIEEO| ZFE0f| LSt o] MZts B35t 20|Ct 20| LIRS HIEIO R $t Jajm @ AHLI0|X 2|
€17t (A), (B)0ll S0{Z LIZOZ 7h&t X3t 27HKIZ (B 7Y T2AIL.

| think that smartphones help students study better. First of all, students may enjoy
learning more when they study through educational applications. For example, they can
memorize words using vocabulary testing apps. Moreover, they can use the Internet
on their smartphones to easily find information. When they have questions about a
particular topic, they can always search online to find answers. Therefore, | believe

smartphones can be used to enhance learning for many students.
* moreover: AICE7t ** particular: £E&St *** enhance: S&A|7|Ct

|
770 advantages of | W
1] 7 5 2 o (A)
using Smdrtphan@ J
Z | ou: (B) W 4 3 Z: enhancing learning 1
' —J for students __J

(E70)
(@ reading e—books @ studying better ® uploading data @ finding information easily

W), B)-@,6

*), (B) - @, ®
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| think that smartphones help students study better. First of all, students may enjoy
learning more when they study through educational applications. For example, they
can memorize words using vocabulary testing apps. Moreover, they can use the
Internet on their smartphones to easily find information. When they have questions
about a particular topic, they can always search online to find answers. Therefore, |

believe smartphones can be used to enhance learning for many students.
* moreover: ACH7t ** particular: £&8t *** enhance: A7 |C}

1. T2 29 FH(O A BIZH(A), (B)Ol E01Z 71 MESH HOE (70N S2t 2oL,
ZH :__(A)  of using smartphones to __(B) _ students in studying and learning
CE70)

@ Internet @ advantages ® find @ help ® testing ® applications

2. S22 A0 Cioll Tt = BHLH 27AS (A0 EAlotL, 1 0|RE S22 (B)O| AA|2.
— | (A) [ agree / disagree ] with the idea of the passage.

Mo
o
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I

—- 27 (B)
1.V B)®
2. (A) agree or disagree  (B) XAI2 2%
1. 0| 22 AOIEEQ| EXOR SMME0| SEE U oIS gl 2he MES AR XM, k5 US
Eofl et52 S0 it =M, ADEES 280610 QUHUI Z4M0| Z0[5iCi= M2 2222 HHSIY
I ZEOZ ANIEEO| U2 SHMEQ| st52 SAl7 = T A ES Y6t A0 FHls Rt

otEohs Ol SHSE S=(@ help) ADIEE AlE2| YHS(@ advantages) 0| XH5ICY.

|10

MO A2t [(agree) = HIS2(disagree)2 H3HGI MAIE S0i| CHSE XHAQ| A2t
StH, 11 2HE XREA MAIGHE], EE 24 SHEAIRJIS 406 822 SHdl= A

mjo mjo
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o ot= oiM0] 25 F0T Z S0 OI<>HEE ofofgt 4~ Gl 012|st&0] O|F0R|7| 022 s

112fott] etz siiiE Mg 4 U
ot &2

Step 2= o 7HA A0 &2 TEel 22 8, MT Z=EE WOt FHIE Olot =S A= U
SHAS O FHRUXIO T2t 012 OJhE =2 o= Q= FAMO0| HAIEIX| S o= AT Fot 12 QAUOINE

28I PP TS T4} HELS Sof R0 et AIZEH & 0|R01E 4 UTE sict.

.
0

* Step 3= HII23IOZ Step 11 Step 22| AXHE SUSH 6t , M2 LS HMIAlot
’éi-’_ﬂl%oil thst 2|4 58 T HEE SFGH XL SIRULE FH| O7LE 2bgoty| YaiAle HES shAlot=s
20| LUO|EE O] HAE AAR OH”OPEE J(IE HO| HR35IC}, Heel 22 OlsigieLt
AMIHE HIEOZ FH|E Mefoh= 40| A £Z2| YF A 2A6IE 2 H7|9 HOLL 0715 53
E22UEE OfOE‘Ef SHYS 2| JHQIXI0N 2| fE7|°| oLt 01312 &Y 4 QUCH ESHHIEA mEo=

22 0ldlfot= A2 7127| LUeH sl S0 theh XHAQ| MO 2 “Fo|/H|S 2l 9| 2 MAIGIH SHAte|
AMZH0|| K12 %"*O CHH|GHO] Af2Eh 4= Ql= BHEE FItSILT.

_‘R
=
>

59



2022 W8

u=aFg0l me

4 dF4E BEXT X2

B9H_0[H

a1z
HRRE
©)

RN

[1083%2-01-06]

ZHEHGHLO|LH 20N THaSE AA
Lt 7EEZ HEHHOR motat

+

2OILt 29 FDH LAt
+=E Mefettt.

54
hE19_|

ﬁo

to] 2L &

El
m@4>
ol

o>

Ol o

CHe 242 o, WZto] S02 Hxst of
1. | forgot to set my alarm last night;
2. She loves to play soccer,;

3. The weather forecast predicted rain;

, she enjoys

(271

@ in addition

@ however

HEAE (R0 22X
, | was late to school this morning.

swimming on weekends.

, it turned out to be a sunny day.

® therefore

CiSol 8t ciato| 22 glu, ME-E2-Z20j 55

ol= 2ol HEE (A~(C) S35

Sh= 20l AA|2.

® Reading also helps us relax and reduces s

(™ Reading books is very beneficial. @ It improves our vocabulary and knowledge.

choose books you enjoy and make reading a daily habit. ® Therefore, reading is a
great way to learn and have fun at the same time.

tress. @ To get the most benefits,

Body

-_—

— (B):

- (©):

[ Step 1|
1.®

E2
(VO]

2.0 3.@

B@6 @ (O

HO
0%

EISIA 2.

12 o1, 230

Chs g8

W : Good inventions often start with creative i

help us every day. Therefore, when you

ideas. But if these ideas don’t help us
daily, are they really useful? | believe that good inventions should be practical and

thinking about inconvenient things at school or home. Then, come up with ideas
to fix these problems and make life easier.

want to invent something, start by

A0, p.148 ]
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When inventing something, it's important to focus on fixing at school or
home to make life easier.

@ inconveniences @ familiarity @ prejudice @ habits

g 1.9 2.0
1. 0fxtel g3t LIS B AR0| ot 222 TS WL N9l MAIN HIREL, YuHos
=80| 5K HECHR, Q88717 21 LI0|1, 22 FL W2 0|1 UN0| 30| H0io}
SICF OIC}. §1ZA} ‘therefore(12{D2)' 2 HAIS Z2L @ ‘WY Tl Stalt HAS 2HES
2350 - - - _ -
S| syzstol a2 of BRIGPY BIES 20 SXS F0{0F STt KL
2. 29| Lig2 Qofst 20| ‘U3 1f S EUAIL SIS 26101 42 O H25p B 20
SHE F00F Btk 0|22 HIZH0f HEE A2 ‘@ inconveniences(2He!) 0|t
“ Step 12 3 27 LIOIA] 2ol 2AE Totoiol (EAE BRIIES THEIRIC 2N thet 7|2
i OJaH7} AEEIOI0F B10Y, 2t &AIS] 2JD|%t T15S NS S5} B2 OIHSIES B Si%0)
LRSI 27]0] HAIE ZAIS) 45 SHESI0] A S| BRIS HASSHD, 0] Y AH2 M22 NS
S5 S1=E0= 0IRO{XIS 0] BRI
s o | * Step 25 2| TV SAD TES| (ENQI H2-EE-HE20| TS 0lafolD B2 Lol 2F50] ofL
=3 = - - - - = = -
Ao upor | TRV SITBIERIS PSS SASIEICL O0IXIS BE(0] 291 74 Fefo) O/F4E 51, DE 20
O -
o

Step 3= T/t 222 (IALC| HEIE 22 MlAlotal HEAt thereforeE MOS0 ZES HOtU= &
ofl, LIS 5= 0fatisorzt & == Q= etz HEIXIE ToIRI. OIS HIgLZ 28 W8S

tHIE HIAIHO] & 0f(inconveniences)E ISt S SHICE
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* What: Airplane
* Who: The Wright brothers
* Where: In the US

COflAL
.t AWhoinvented the airplane?
= B : The inventor was the Wright brothers from the US.

- Who? Johannes Gutenberg -Who? Tim Berners-Lee

- Where? Germany - Where? the UK
A Who invented ?
B : The inventor was from
AN Y O3 4 5B, 48%F0] p.134 (Z4D)
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Who? Where?

WHAT?
(HHE 0| 8):
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o
Do you know who invented ? There were some people who tried
to invent something similar. But it was from who greatly influenced
its development.

®
A: Who invented printing press?
B: The inventor was Johannes Gutenberg from the Germany.

@
A: Who invented world-wide web?
B: The inventor was Tim Berners-Lee from the UK.

2-1.

n
(]

OflAIERE

I
r

GUTENBERG GERMANY

Who? Where?
WHAT?

(HHE 0|8):
PRINTING
PRESS
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A
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A
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2-2.

Do you know who invented printing press? There were some people who tried to invent

something similar. But it was Gutenberg from Germany who greatly influenced its

development.

(w] Step 20N =H|BH LHE Xtz A LHSH EAIC [6F]
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Who? Where?

WHAT?
(LFE 0|8

L4HIt
Ut 28 - &
[LE =]
Do you know who invented ? There were some people who tried
to invent something similar. But it was from who greatly influenced
its development.
GUTENBERG GERMANY
Who? Where?
N WHAT?
EEELEN
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The 2024 International Horticulture Goyang Korea is a big event happening at llsan
Lake Park. It's all about the Earth and flowers. Famous designers from all over the world
made special gardens with beautiful displays. There are gardens with names like
"Green Qasis." People can walk around and see many different gardens, take pictures,
and learn about different kinds of flowers. Inside, there are halls with lots of flowers
and plants. There are also fun events happening, like watching movies and having a
picnic. The expo is a great way to see beautiful flowers and learn about nature.

The 2024 International Horticulture Goyang Korea takes place at llsan Lake Park. [T/F]
The event is about technology and innovations. [T/F]

Visitors can walk around and see many different gardens and take pictures. [T/F]
People cannot learn about different kinds of flowers. [T/F]
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The 2024 International Horticulture Goyang Korea is a big event happening at llsan
Lake Park. It's all about the Earth and flowers. Famous designers from all over the world
made special gardens with beautiful displays. There are gardens with names like
"Green Qasis." People can walk around and see many different gardens, take pictures,
and learn about different kinds of flowers. Inside, there are halls with lots of flowers
and plants. There are also fun events happening, like watching movies and having a
picnic. The expo is a great way to see beautiful flowers and learn about nature.

*horticulture : 0]

Q. What can people do at the expo? (List at least 3 things.)

* People can
* People can

* People can

OIlAl 2t | (1) The 2024 International Horticulture Goyang Korea takes place at llsan Lake Park. [T]
(2) The event is about technology and innovations. [F]
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(3) Visitors can walk around and see many different gardens and take pictures. [T]
(4) People cannot learn about different kinds of flowers. [F]

* People can walk around.
* People can see different gardens.

* People can take pictures.
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The 2024 International Horticulture Goyang Korea is a big event happening at llsan
Lake Park. It's all about the Earth and flowers. Famous designers from all over the world
made special gardens with beautiful displays. There are gardens with names like
"Green Qasis." People can walk around and see many different gardens, take pictures,
and learn about different kinds of flowers. Inside, there are halls with lots of flowers
and plants. There are also fun events happening, like watching movies and having a
picnic. The expo is a great way to see beautiful flowers and learn about nature.

*horticulture : 20

Q. Where is the 2024 International Horticulture Goyang Korea event taking place?
A ltis
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ETYN xiag ATHsH= profile ZHAd5H7|
XHA12| profiledl] S01Z LIRS OF2f HO| 2HABHAIL.

Name: Y=

Nickname: Lk

Personality: AHele] M2 ("HEAF 27H)
Hobby: Z0|

[OflAl]

Name : Levi Jackson

Nickname : Smiley

Personality : friendly and humorous
Hobby : playing sports

w-stE m ZHst profileS 7|8IQ 2 GAIE £115I0] XIS ATH5H= 2ES M SAICH
St=E
=S [Example]
I'd like to introduce myself. Opening
My nickname is “full moon” because my Korean name Boreum | Body :
means a full moon. Nickname1} 0|Q
As you can see, | am very optimistic and empathetic. Personality
| like watching TV dramas in my free time. Hobby
I hope you and | will be good friends each other. Closing
® HHut 7 0|R70f| CHSHA] GA|E Z15H0] St 2RO 2 M ZAIC
— My nickname is “ ” because
@ Xl 40 CHehM GIAIE ZH5H ot 2RO 2 M FAICL
— As you can see, | am very
@ Xrlel F0Ojof| CHeHM GIAIE ZH5I ot 2RO 2 M FAICL
— | like
Name : Boreum o)z
OflA] Eret Nickname : Full-moon Lk
Personality : optimistic & empathetic AHale] A ("HEAF27H)
Hobby : watching TV dramas in my free time F0|
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rok

© 233} 71 0|R0i CHEHA GIAIE & 115i0] ot 2RO = M SAIC
— My nickname is “full moon” because my Korean name Boreum means a full moon.
@ X2 40|l CHeHM GIAIE FH15IH o 2 ’QE M SAILCE
— As you can see, | am very optimistic and empathetic.
@ X2l F0Ojof| CH3HA GIAIE H115HH S 2HOE M FA|LE
— | like watching TV dramas in my free time.

m] Step 20ilA C15St B&E HIEOZ XHIg Mlst= 28 24l SAICh [43]
I'd like to introduce myself. Opening
wyt 25t My nickname is “ " because . | ® Nickname2} 0|
= As you can see, | am very ! @ Personality
| like to . ® Hobby
| hope you and | will be good friends each other. Closing
I'd like to introduce myself. Opening
My nickname is “Smiley” because | smile a lot. @ Nickname1} 0|
Of|A] EFor As you can see, | am very friendly and talkative. @ Personality
| like to hang out with friends. ® Hobby
I hope you and | will be good friends each other. Closing
HE QA | HiH 23 EXN
XIS 3 | RRAof TSt 374K HE(EY, &4, F0)E 25 Lot Yot ] =2|HO 2 BHigt
M 71E A7H:E 2 AHe10f thet 274K EE Z3lot0] Uix= oot =2|Xo = Halgt
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OMAE AT HUS {5t 7|2XQl 2l EHO0|E 2 431 G E 50| U ANt FHIE SoH 0]2F 2t
w8y ¥ WSS sttt
* Step 10| M= 7HEeE BE T AHhe| >t XHA0)| CHot G2 E Zdol & 4= A ST, O] 2-EHOA
OF 7|2H21 HOEL 02 Y ot ZR0= HA7|L S0 AR 2 =22 &2 == U St
st 0l
I.IEEOH:DP * Step 20il M= HOIA ZHHS| 245 LIS S HIZQ R FOT 022 A0 FAQ R Bl 7HHst 2=
O -

Aplo] Z=0lLt X0l THalA 715 &= AES s=H

+ Bt ZY0ME 2 B2 HYME XS ot E2 HEC = FHo S 2 M AR T 7|se 4
UES oitf. &0 Mef sS850 0] WES YHSH= 2322 &g = +& AU

* B0 24 SHAPE AR 2T ER2 25 Ao 3220 A7 | ARH0| £3I5 Z0k6, OE 7IRE
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EX: https://www.printablee.com/post_printable-feelings—chart_383913/
e o ~ ~ £ NI~
w ' — - s w
warm thankful lonely excited
- N ~ o~ [ ]
() X X
- A~~~ CHHD -
D488 disappointed guilty nervous satisfied
= | | ———
=20
- "
e 5 " 3 F
- il " "
confident worried embarrassed angry
XHalo] ZPKol| CHaH Brat LSt
(m] Step 10 HH2 HOSS &0t T2 FHI HE0IA LH7H =7|= L0 tich 7|S i SAIC.
ot Sl 210 Bot &ol ZH0| CHohM T 7|= o ZAIC.
* My friend didn’t listen to me. | felt ( )
* | met my favorite singer. | felt ( ).
* | had to move to another school. | felt ( ).
LI T T -5 S a
warm thankful lonely excited
00| meet LAFSt 2L L=
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disappointed guilty nervous satisfied
Mayst E|#20| £ HEES RHSOH
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- a wom
confident worried embarrassed angry
Al e A== HH =, a5t apt

* My friend didn’t listen to me. | felt ( disappointed )
* | met my favorite singer. | felt ( excited ).
* | had to move to another school. | felt ( nervous ).

] Ot FOT & & olLUE St 1 J=0IM AH0| =7l 280 THallAl AN,
(EF, Step 11t Step 20{M Hi2 HOIS &8 + UZ.) [2F]

A=k @ | have to stay alone at home on Christmas.

L7} 25 .
i @ | forget to bring my homework.
® | get a perfect score on my exam.
— When | , | feel
* When | have to stay alone at home on Christmas, | feel lonely.
Of|A] EFF | « When | forget to bring my homework, | feel embarrassed.
* When | get a perfect score on my exam, | feel confident.
MY e |y 3 54
bS K| AFSHD M2 2tbMS oMo 2 Haist
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H517| 13 FO|2! A= T0 M2 2482 BEoIACL Cia RB7HUS
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0H FOIT A Z47-0| HEEK| ALY O]&b.
. Step 10X = StEAH &0 HF0 CHYSt O, ARRIS 28010 Z-E LIEH = S0 s S&29|
otz 7|28 Hléom ApAQ| ZH00| CHal Al Big 4~ UES Sict
. Step 20| A= Q.MC'J%OI CHerot et K0|AM 7 Z-0)| tio Soj= Balal & 7[8E 7HE = UEE
g | N2 OI2 21 Ho| H5S 5/01 SR A 9150| 2 4+ UEE B,
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Y0 ol 0T A0 FA = B ZITSHA M & 4 UA ST
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(1)One of the things | love doing the most in life is traveling. (2)These days, my
favorite form of transportation is the bicycle. (3)I can travel farther and faster on my
bike than | could on foot. (4)! can avoid traffic jams and the restrictive routes and
schedules of public transportation if | ride my bike. (5)Because of these advantages,

riding a bike is a great way to explore cities.

25 229 I8 32
(1) | 7P Z0tat= & ( )
(2) | 7t E0tete wEH : ( )
-5t @) | AEHY EH D ( ), ( )
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0

=2 2% keywords H0| 7|

(M traveling

(2) riding a bike

3) travel farther and faster

4) avoid traffic jams

(5) advantages — riding a bike is a good way to travel cities

m OE 22 AL (E7D0 FOT 02IE EE5I0 LAFS IoHA2.

One of the things | love doing the most in life is traveling. These days, my favorite form
of transportation is the bicycle. | can travel farther and faster on my bike than | could
on foot. | can avoid traffic jams and the restrictive routes and schedules of public
transportation if | ride my bike. Because of these advantages, riding a bike is a great
way to explore cities.
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M : Hello, Villeford High School students. This is principal Aaron Clark. As a big fan of
the Villeford ice hockey team, I'm very excited about the upcoming National High
School Ice Hockey League. As you all know, the first game will be held in the Central
Rink at 6 p.m. this Saturday. | want as many of you as possible to come and cheer
our team to victory. I've seen them put in an incredible amount of effort to win the
league. It will help them play better just to see you there cheering for them. | really

hope to see you at the rink. Thank you.
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[Script] | really hope to see you at the rink.
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[ET¥] Express Your Hopes!

&l

(23 4]
1. A 22 DRt S8 7IEE oF M LiH ZHXIML.
2. Ao Y IES B0, O] SEUM AH0] Hi2k= EE "I really hope to ~" T1E2& AFESH
Holols 282 26 SAICL
2 BEPUOA RHLlQf é% 7tEE 0 SUCH 22|10 ZAPt &=H|

3. O[H| &= O|F0f Ast
“I really hope to ~

= to| HiEE EEUL.
4. YUY =11, ZALO] HIZO Tl ZHH| %

AR
Ef AL 9jAE LU

78



(&

F27HE OflAl]

Card 1(CllA])

Card 2 Card 3

(2 You have been preparing
for the school science

() There is a big test coming

(29 Your best friend is moving
up, and you have been

to a different city next

fair for months, and it's month. studying hard.
finally happening next
tomorrow.
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= : | really hope to see you at the rink.

| really hope to win the first prize.

oo
A% 2 | really hope to stay in touch with you.
A% 3 | really hope to pass the test with a high score.
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 You are going on a picnic with your family this

weekend.
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2) A&t Your class is having a pizza party tomorrow.
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» eat my favorite pizza

* have fun at the park

79



= A = =
Fgoll M2 24 SF+E BRI K=
o —_

s

Io-l

2022 M

g
g oz lo LEE B0
F ol & T EE 25 < X
RojoF| & | 2 © — O — = ! o
To| % L s K o~ = &0
J N ion S 5o &0 1o MH = 1
ol m g 2 or o 0] o M
_“_._A__o hron I - o K o3 =
o_m o L wo__ Ton = = T
[\ Kl E | & Bl gy K
oAl T %ok = R0 I+ K- 2
0| S | el M._n_ ol m 14 F_Oo Ok o_=ﬁ._u ol 0l
RIS E S gy 5 Y = o %
=| 00| g | =r T < o &5 %0 LH
~ @17 AI'V,A_I <D nH mjn
o2 K R 5 o U S K
aﬂﬁml_l__l_m./_l Uﬂom_._._._ |__|_.__|u_||_3._. _H._.lﬁ_n_l
J_A.ol__n._._LH\_m_/ wH._O_ H_._.n.v.n ol iod %0
Moo_EmWWw o ) oo
E_ﬁmgam.r_h. =0 .. OF Uy fu __Ab,muzu
Faes 2oy W X oL
"TnE B -
= | ol oy L) N il
DRE< =3 LILI.MIM .ro|V,_|._o
m_.x.__._ﬂ._ o wn S m_.._lmmv.o Adﬂ
AL K2 m =™ E 3w
2z Ik ME K S
2%F 2iu 25gw B
Rl ok T welr Z4+z %IE
, © S5 o8 :___.mu ﬂﬁ%oi ___WE
~l LN | — - - o i
=N Kk &w_o_A _._.___._._e_/ L|__0L.__o._ _I_o_.: 53
3 g <055 w5 3 o0 oo @Zﬁ_ﬂ MT
o QO RJ| X0 ul = g Hme_e| @onu_r
=% &K o= e mE R
w® > K- < S ke Q or u o0 O i3
cl 8 S ﬂ_._._._._nr_.l _Llﬂrxﬂﬁmm_“_ __oH_.A_lE
2 > mnnmxmnxu U g U o js = T
o € F N — T o s B o _._.__u_m._. &l __oEq.OI
> 4 MILI Hu_._noH_H__.;o ._o__o|r_|
O © _— S o2 o RY & Br ]| H.AIH&
o o FLy RS Q< I REx xR
SIS uxi_#m W%H_ oﬁur_nw__m_m [
@ = O] 1 pud e T = =X 100 ~ =
ENEEEY: Z1f 2525 855
> 2 | R a1 g oF 30
EENE TR Szom L oE
3 8 Ho & fr SHE &2 =
- = 4 = Q=g
[N _, &l
KH ok
. KH 0
mu n ﬂ_EE
— &0 R
W =3

80



Il. ZlA gFeZE EHAE KR (385301 2)

0

P!
FIE HEGE

[108Y2-02-07] (B)

o3|t HoiS Hdol P
Ee g g T @ oAl
SiC} SH9|

]

[0
Hu
o

0

o

3
- 0fg12} 210§ &A|

El
e >

Ol _|§'I_l
ol

530 nttps://youglish.com 0 & & mightS ZA0|2 202 S m
Ol S0{ BMIQ. S2 2% 5 SIS Z2} XH0| Fof 52 2HE 20 210 &t 3HH S|t

o

=

might7} 0{H S SH=X| O|0F7|5H ZAICY.

YoEun e mfor English ¥V

might Q say it!

All us UK AUS n

S mi3t 2W0) folsie] 2 2l £ 2YS 91, D2 Foe.

Happy with my purchase!

After reading a number of reviews, | bought this wireless mouse. So far, I'm quite
impressed with it. First of all, it takes up very little space because it doesn’t have a
cord. Also, you can control your computer from anywhere in your room. If you spend
a lot of time on your computer, you might find it useful. People might think it is
expensive, but | think it's worth the price.
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1) If you spend a lot of time on your computer, you might find it useful.
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2) People might think it is expensive, but | think it's worth the price.
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A Hi, | heard this wireless mouse is good. Can you tell me more?

B : Sure, it's very compact and you can control your computer from anywhere in your
room.

A 1 Sounds useful. It might (1) , right?

B : It might (2) , but it's really worth the price for the convenience

it offers.
A : Okay, | think I'll take it. Thanks!
B: You're welcome! Enjoy your new mouse.
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seem that way / be a bit expensive
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(1) be a bit expensive
(2) seem that way
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